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QUESTION 1

Which three are true regarding prerequisites for a logical standby database as a disaster recovery solution? (Choose
three.) 

A. Ensure that no ROWID data types are contained in the primary database. 

B. Ensure that flashback is enabled on the primary database. 

C. Ensure that supplemental logging is enabled on the primary database. 

D. Do not perform any nologging operations on the primary. 

E. Ensure that no BFILE LOB data types are contained in the primary database. 

Correct Answer: BE 

 

References: 

https://dbaclass.com/article/flashback-primary-database-in-dataguard-environment/ 

https://books.google.com.pk/books?id=SNOkrDT8QLoCandpg=PA209andlpg=PA209anddq=Do+not+perform 

+any+nologging+operations+on+the 

+primary.andsource=blandots=DIVtaA1jPyandsig=ACfU3U3PF3EOoTUwaeKJuC_I0kmiMNyZHQandhl=enandsa=Xand
 

ved=2ahUKEwiDttKDufzmAhVR8uAKHY27Dg0Q6AEwAHoECAkQAQ#v=onepageandq=Do%20not% 

20perform%20any%20nologging% 20operations%20on%20the%20primary.andf=false 

 

QUESTION 2

Which four statements are true regarding SQL Apply filters for a logical standby database? 

A. They can be used to skip execution of DML triggers on a table while allowing the DML to execute. 

B. They can be used to skip ALTER SYSTEM and ALTER DATABASE commands 

C. They can be used to stop SQL apply if it encounters an error. 

D. They can be used to skip all SQL statements executed on a specific pluggable database (PDB) within a standby
multitenant container database (CDB). 

E. They can only be used to skip DML statements on a table 

F. They can be used to skip ALTER TABLE commands on a specific tables 

G. They can be used to skip CREATE TABLE commands 
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Correct Answer: ACFG 

 

QUESTION 3

Which three are benefits of using the Data Guard Broker to manage standby databases? 

A. it simplifies physical standby database creation 

B. It provides an easy failover capability using a single command. 

C. it coordinates database state transitions and updates database properties dynamically. 

D. it automatically changes database properties after the protection mode for a configuration is changed 

E. It provides an easy switchover capability using a single command. 

F. It simplifies logical standby database creation. 

Correct Answer: BCE 

 

QUESTION 4

Which two are true about the creation of a Data Guard Broker configuration? 

A. in a broker configuration, the primary database name must match the DB_UNIQUE_NAME value in the database
initialization parameter file. 

B. A primary database profile may be added to the configuration prior to creating the primary database. 

C. A standby database profile may be added to the configuration prior to creating that standby database. 

D. A newly created broker configuration requires at least one standby database profile to be specified at the time the
configuration is created. 

E. A newly created broker configuration is in the disabled state 

Correct Answer: DE 

 

QUESTION 5

Which three statements are true about snapshot standby databases? 

A. Tablespaces can be dropped. 

B. Tables can be dropped 

C. The broker may be used to fail over to a snapshot standby database. 

D. A logical standby database can be converted into a snapshot standby database. 

E. Tablespaces can be created. 
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Correct Answer: ABE 
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